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Skills - Questions

1. Which of these is not a punctuation mark?

A- Full stop
B- Comma
C- Colon
D- Hashtag

2. All of the people at the school, including the teachers

5.

were glad when summer break came.
A- students:
B- students,
C- students;
D- students.
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8. Which punctuation mark should go in the blank space?"Jimmy said
that the Earth was flat but I said it was flat."
A-Full-stop
B-Colon
C-Comma
D-Semi-colon

9. What is the function of a colon
A-To indicate a series of options
B-To remove water from digested food in the intestine
C-To use when commas get boring
D-To indicate that a new sentence has begun

10. What is missing from the following sentence? The day which
happens to be Tuesday is hot and windy.

A-An exclamation mark

B-A semi-colon

C-Commas: one after ""happens’ and one after ""hot™
D-Commas: one after ""day’ and one after ""Tuesday"'
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Which description best suits the full-stop?

A- A dot at the end of a sentence indicating that the sentence is
complete.

B-A dot at the end of a sentence which leads to the next sentence.
C-A squiggle in a sentence indicating when the sentence should
finish.

D-A dot in a sentence.

12.When should you use an apostrophe?
A-To indicate possession (where a noun owns something).
B- When someone is speaking.
C-For a contraction (where letters are missing) and possession
(where a noun owns something).
D-When an independent clause is attached to a dependent clause.

13.Which sentence would mean that Grandma is being invited to eat?
A-Let's eat Grandmal!
B-""Let's eat, Grandma'?
C-Let's eat: Grandmal!
D-Let's eat, Grandmal!

14.Did she say may I go
A- Did she say may | go?
B- Did she say ""May | go?"'
C- Did she say, ""May | go?"'?
D- Did she say, ""May | go?"'
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15. Choose the sentence below with the correct punctuation.

A- The sign changed from, "*Walk™ to ""Don't Walk"* to ""Walk"*
again, within 30 seconds.
B- The sign changed from ""Walk," to "'Don't Walk," to ""Walk,""
again within 30 seconds.
C- The sign changed from ""Walk," to "'Don't Walk,"" to ""Walk""
again within 30 seconds.

D- The sign changed from, "Walk," to "'Don't Walk,"" to ""Walk""
again, within 30 seconds.

16.Choose the sentence below with the correct punctuation.

A- She said, ""He said, "Hurry up." "'
B- She said, ""He said, ""Hurry up."
C- She said, he said, ""Hurry up."
D- She said, ""He said, hurry up."

17.Choose the sentence below with the correct punctuation.

A- A stone that makes gold and stops you ever dying. Said Harry,
""No wonder Snape's after it."

B-""A stone that makes gold and stops you ever dying!"* said Harry.
""No wonder Snape's after it!"

C- ""A stone that makes gold and stops you ever dying,'" said Harry!
""No wonder Snape's after it."

D-""A stone that makes gold and stops you ever dying!," said Harry.
""No wonder Snape's after it!"
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18. Choose the sentence below with the correct punctuation.

A- The book begins with this line, "It was the best of times, it was the
worst of times."

B- The book begins with this line: It was the best of times, it was the
worst of times.

C- The book begins with *'this line™ - It was the best of times, it was
the worst of times.

D- The book begins with this line: "It was the best of times, it was the
worst of times."

19.Choose the sentence below with the correct punctuation.

A- Gus looked at us and shouted ""Take those wet clothes off!"*
B- Gus looked at us and shouted, "*Take those wet clothes off!"*
C- Gus looked at us and shouted " Take those wet clothes off*'!
D- Gus looked at us and shouted "*Take those wet clothes off.""

Choose the correct statement:

A- My aunt who lives in Mumbai is a doctor.

B- My aunt, who lives in Mumbai, is a doctor.
C- My aunt, who lives in Mumbai is a doctor.
D My aunt who lives in Mumbai, is a doctor.

21. Choose the correct statement:
a) | met a beautiful , European woman.
b) I met a beautiful European woman.
c) I met a beautiful European, woman.
d) I met a beautiful , European, woman.
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22. Short formal piece of writhing dealing with a single subject called.
(a) Narrative essay
(b) Essay
(c) Expository essay
(d) Both aand c
23. How many types of Essay are?
()3
(b) 6
(c) 8
(d) 4
24. A way of gathering idea about a topic is?
(a) Outlining
(b) Brainstorming
(c) Editing
(d) None

25. Write down any words or ideas that you can think of is the step of?

(a) Brainstorming
(b) Outlining
(c) Mapping
(d) Drafting
26. Write one paragraph for each outline called?
(a) Editing
(b) Outline
(c) Drafting
(d) Revising

01220980959




New model 6 S G Caal)

27. Take out unnecessary details or sentence, move sentence, add words
are the tips of?
(a) Editing
(b) Drafting
(c) Revising
(d) None
28. Check your grammar, capitalization puntuation and spelling error
called?
(a) Drafting
(b) Editing
(c) Revising
(d) None
29. The sentences that follow further explain and support the topic
sentence called?
(a) Narrative sentence
(b) Discriptive sentence
(c) Drafting
(d) Supporting sentence
30. Revising is a step of?
(a) Writing process
(b) Topic
(c) Narrative
(d) Supporting sentence
31.In any topic we first write about its
(a) Type
(b) Introduction
(c) Advantages
(d) conclusion
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32. Each idea of the essay should be connected to the
(a) Types
(b) Next idea
(c) Line
(d) conclusion

33. The writer should present all sides of the arguments, but must be able

to communicate clearly is the type of essay.
(a) Persuative essay
(b) writing process
(c) None
(d) Both aand B
34. Capitalization punctuation or spelling error are
(a) Outline
(b) Mapping
(c) Revising
(d) Editing
35. The introduction of narrative essay should have a
(a) Study at narrative essay
(b) The narrative hook
(c) Identifying hook
(d) Hook and thesis

is especially important in narrative essay.

(c) Novels
(d) None
37. Narrative essay help for the story.
(a) set the stage
(b) Emotions
(c) Behaviour

(d) None
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38. In most types of essays the thesis states the
(a) Main idea
(b) central points
(c) Organisation
(d) Bothaand c
39. The body of your narrative essay contains most of
(a) Time order
(b) Plot,supporting information
(c) Information about story
(d) the thesis
40. The action in narrative essay can be organized in
(a) Few method
(b) Important point of essay
(c) About the story
(d) Different ways
41.In a narrative essay each paragraphs ends with a
(a) narrative hook
(b) Thesis
(c) Transitional Sentence
(d) None
42. In the narrative essay conclusion you
action in the essay.
(a) Start
(b) Finish
(c) Prediction
(d) Bothaandc
43. Final sentence in narrative essay delivers the
(a) Hook
(b) Moral
(c) Prediction
(d) None

10
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of the essay.

describing the

of the story.
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44. The little boy had finally learned that telling the truth was the most
important thing to do.it is example of..............
(a) Prediction
(b) Revelation
(c) Moral
(d) None
45. I can only hope that one day I will be able to do the same for another
travel who is suffering through a terrible journey it example of ............ .
(a) Prediction
(b) Moral
(c) Revelation
(d) None
46. All of these are types of essays, except?
(A). Narrative essay
(B). Personal essay
(C). Argumentative essay
(D). Descriptive essay

47. The introductory paragraph of an essay requires the topic, thesis and

(A). main ideas
(B). supporting details
(C). bothaand b
(D).aand b
48. An essayis a
(A). song with a novel or a story
(B). poem that has multiple stanzas
(C). some kind of writing that has organized paragraphs
(D). some kind of writing that requires research
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49.  Which of the following essays describes a subject?
(A). Narrative essays
(B). Expository essay
(C). Argumentative essays
(D). None of these
50. A good essay has the characteristics except?
(A). Fakeness
(B). Dignified style
(C). Brevity
(D). Personal touch
51.Which of the following is the essay that uses to increase the imagery of
the setting? The five senses means the sense of taste, sound, touch,
smell, and sight.
(A). Narrative essays
(B). Expository essays
(C). Descriptive essays
(D). Argumentative essays
52. Which of the following essay tells a Story?
(A). Argumentative essay
(B). Descriptive essay
(C). Reflective essay
(D). Narrative essay
53.  Which of the followings essays are a set of one’s thoughts.
(A). Reflective
(B). Expository
(C). Argumentative
(D). Narrative
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54. A good writer must avoid in a good essay?
(A). Brevity
(B). Dignified words
(C). Slang
(D). Unity
55. The writer concludes by logical reasoning in essays.

(A). Narrative essays
(B). Reflective essays
(C). Argumentative essays
(D). Descriptive essays
56. Which of these is not a characteristic of a good essay?
a) Brevity
b) Dignified style
c) Fakeness
d) Personal touch
57. Which of these should be avoided in a good essay?
a) Slang
b) Dignified words
c) Brevity
d) Unity
58. Which of these is not a type of essay?
a) Narrative essay
b) Descriptive essay
c) Argumentative essay
d) Personal essay
59.  Which of these essays tells a story?
a) Narrative essays
b) Descriptive essays
c) Reflective essays
d) Argumentative essays
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60. In which of these essays, the writer arrives at a conclusion by logical
reasoning?
a) Narrative essays
b) Descriptive essays
c) Reflective essays
d) Argumentative essays
1 N essays are a collection of one’s thoughts.
a) Narrative
b) Expository
c) Argumentative
d) Reflective
62.  Which of these explains a subject?
a) Narrative essays
b) Expository essays
c) Argumentative essays
d) Reflective essays
63. Which kind of essay uses the five senses (touch, smell, taste, sound,
sight) to enhance the imagery of the setting?
a) Narrative essays
b) Descriptive essays
c) Expository essays
d) Argumentative essays

64. A Paragraph is a group of sentences that talk about

(a) one topic

(b) two topic

(c) multiple topic
(d) Both aand c
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What are the types of paragraph writing?

(a) narrative, persuasive

(b) descriptive

(c) expository
(d) All of above
66. What is the first sentence of a paragraph called

(a) introduction sentence

(b) exclusive sentence

(c) topic sentence

(d) first sentence

is necessary for writing.

(a) Planning
(b) Time
(c) Place
(d) None

68. Which of these is used to separate short co-ordinate clauses of a

compound sentence?

A-
B-
C-
D-

69.

A-
B-
C-
D-

70.

A-
B-
C-
D-

Semicolon

Comma

Full stop

Colon

Which of these is used to separate a series of loosely related clauses?
Comma

Full stop

Semicolon

Colon

Which of these is used between sentences which are independent ?
Colon

Semicolon

Comma

Hyphen
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/1. Which of these is used to convey proportions?

72.

A- Semicolon

B- Colon

C- Comma

D- Hyphen
Choose the sentence below with the correct punctuation.
A- ""Everyone will read the chapter entitled " Africa" for tomorrow,'
said the substitute teacher.
B-""Everyone will read the chapter entitled "Africa' for tomorrow""
said the substitute teacher.
C- "Everyone will read the chapter entitled 'Africa’ for tomorrow,"
said the substitute teacher.

D-"Everyone will read the chapter entitled 'Africa’ for tomorrow"
said the substitute teacher.

Choose the sentence below with the correct punctuation.
A- Greta said "'l want to go home"" so we took her there instead of with
us.
B- Greta said, "'l want to go home"" so we took her there instead of with
us.
C-Greta said, "'l want to go home,"" so we took her there instead of with
us.
D-Greta said "'l want to go home,"* so we took her there instead of with
us.
Choose the sentence below with the correct punctuation.

A-The library’s main entrance is blocked by scaffolding, however the side
door is open.
B-The library's main entrance is blocked by scaffolding, however, the side
door is open .
C-The library's main entrance is blocked by scaffolding; however, the side
door is open.
D-The .library's main entrance is blocked by scaffolding however; the side
door is open.
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Choose the sentence below with the correct punctuation.

A-In addition to textbooks, the bookstore sells: copy paper, printer
ink, and paper clips.

B-In addition to textbooks, the bookstore sells; copy paper, printer
ink, and paper clips.

C- In addition to textbooks, the bookstore sells copy paper, printer
ink, and paper clips.

D-In addition to textbooks the bookstore sells copy paper; printer
Ink; and paper clips.

Choose the sentence below with the correct punctuation.

A- Do to the popularity of smart phones, some retailers have to many
basic phones left on there shelves.

B- Due to the popularity of smart phones, some retailers have too
many basic phones left on their shelves.

C- Due to the popularity of smart phones, some retailers have to
many basic phones left on their shelf.

D- Do to the popularity of smart phones some retailers have too
many basic phones left on the shelf.

Choose the sentence below with the correct punctuation.
A-Everyone who is going to the picnic should wear their most
comfortable shoes.

B-People who are going to the picnic should wear their most
comfortable shoes.

C-Everyone who are going to the picnic should wear his or her
most comfortable shoes

D-Everyone, who is going to the picnic, should wear shoes.
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Choose the sentence below with the correct punctuation.

A-None of the neighbors were home when the delivery truck arrived
B-None, of the neighbors, were home when the delivery truck
arrived.

C-None of the neighbors was home when the delivery truck arrived.
D-None of the neighbors were home, when the delivery truck
arrived.

Choose the sentence below with the correct punctuation.

A-The architects spent more than a week studying the property

they designed a perfect building for the site.

B-The architects spent more than a week studying the property, they
designed a perfect building for the site.

C-The architects spent more then a weak studying the property;
they designed a perfect building for the sight..

D-The architects spent more than a week studying the property;
they designed a perfect building for the site..

Choose the sentence below with the correct punctuation.

A-The babies rattle fell on the floor so her mother rinsed it off.
B-The babies’ rattle fell on the floor. So her mother rinsed it off.
C-The baby'’s rattle fell on the floor, so her mother rinsed it off.
D-The babie’'s rattle fell on the floor; so her mother rinsed it off.

Choose the sentence below with the correct punctuation.

A-The container of toxic chemicals are on the top shelf.

B-The container of toxic chemicals is on the top shelf.
C-The top shelf is where the toxic chemical’s container is.
D- The container of toxic chemical's is on the top shelf,

18 01220980959




New model 6 S G Caal)

82. Choose the sentence below with the correct punctuation.

A- Ted and Janice, who had been friends for years, went on
vacation together every summer.

B-Ted and Janice, who had been friends for years, went on
vacation together, every summer.

C- Ted, and Janice who had been friends for years, went on
vacation together every summer.

D-Ted and Janice who had been friends for years went on
vacation together every summer.

, Anne was on time for her math class.
A- everybody’s surprise
B- every body’s surprise
C- everybodys surprise
D- everybodys’ surprise

84. In Edgar Allen Poe’s Edgar Allen
Poe describes a man with a guilty conscience.
A- short story, “The Tell-Tale Heart,”
B- short story The Tell-Tale Heart,
C- short story, The Tell-Tale Heart
D- short story. “the Tell-Tale Heart,”

85.  Billboards are considered an important part of advertising for big
business, by their critics.
A- but, an eyesore;
B- but, “ an eyesore,”
C- but an eyesore
D- but-an eyesore
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86. I can never remember how to use those two common words, “sell,”
meaning to trade a product for money, or

meaning an event where products are traded for less money than usual.
A- sale.
B- “sale,”
C- “sale
D- “to sale,”

87. Do you agree with the saying all's fair in love and war?

A- Do you agree with the saying, ""All's fair in love and war"'?

B- Do you agree with the saying, ""All's fair in love and war?"

C- Do you agree with the saying "All's fair in love and war"'?

D- Do you agree with the saying, "all’s fair in love and war"'?

88. Choose the sentence below with the correct punctuation.
A-Everyone is being asked to work at least one weekend a month, the
alternative is to take a pay cut.

B-Everyone is being asked to work at least one weekend a month; the
alternative is to take a pay cut.
C-Everyone is being asked to work at least one weekend a month the
alternative is to take a pay cut.
D-Everyone is being asked to work. At least one weekend a month, the
alternative is to take a pay cut.

89. Choose the sentence below with the correct punctuation.

A-Every successful job candidate needs three qualities, patience,
persistence, and perseverence.
B-Every successful job candidate needs three qualities: patience,
persistence, and perseverence.

C-Every successful job candidate needs three qualities; patience,
persistence, and perseverence.

D-Every successful job candidate need three qualities patience,
persistence, and perseverance.
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90. Which of these sentences has the correct comma placement?

A-1 went to the store to buy crayons, markers, pencils, and other school
supplies.

B-1 went to the store to buy crayons markers pencils, and other school
supplies.

C-1 went to the store to buy crayons, markers, pencils and other school
supplies.

D-1 went to the store to buy crayons; markers; pencils; and other
school supplies.

91.Which sentence has the correct comma placement?
A-l wonder if one day, Nathan, you will love me as much as | love you.
B-1 wonder if one day Nathan, you will love me as much as I love you.
C-1 wonder if one day Nathan you will love me as much as | love you.

D-1 wonder, if one day Nathan, you will love me as much as I love you.

92. Which sentence has the correct comma placement?
A-lsabella was a lovely girl from New York, New York.
B-lIsabella, was a lovely girl, from New York, New York.
C-Isabella, was a lovely girl, from New York New York.
D-lsabella was a lovely girl from New York New York.

93. Which sentence has the correct comma placement?
A-Heather was a tall, thin, attractive, teenager.
B-Heather was a tall, thin, attractive teenager.
C-Heather, was a tall, thin, attractive teenager.
D-Heather was a tall thin attractive teenager.
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94. Which sentence has the correct comma placement?

A-Julie was born on July 15, 1996.
B-Julie was born, on July, 15 1996.
C-Julie was born on July, 15 1996.
D-Julie was born on July, 15, 1996.

95. Which sentence has the correct comma placement?
A-Rachel liked him, but, she wasn't in love with him.
B-Rachel liked him but she wasn't in love with him.
C-Rachel liked him, but she wasn't in love with him.
D-Rachel, liked him, but she wasn't in love with him.

96. Which sentence has the correct comma placement?
A-Katherine narrowed her chocolate eyes and yelled, ""You, infuriate
me!"’
B-Katherine narrowed her chocolate eyes and yelled, *"You infuriate
me!"’
C-Katherine narrowed her chocolate eyes and yelled ""You infuriate
mel™

D-Katherine ,narrowed her chocolate eyes, and yelled, ""You

infuriate me!"’

97. Choose the correct one from the following options:

(a) rachna is a pretty girl.
(b) Rachna is a pretty Girl.
(c) Rachna is a pretty girl
(d) Rachna is a pretty girl.
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Choose the correct one from the following options:

(a) Bombay is bigger than Chennai.
(b) bombay is bigger than Chennai.
(c) Bombay is bigger than chennai.
(d) bombay is bigger than Chennai.

Choose the correct one from the following options:

(a) I have done my work.

(b) I’ve done my work.

(¢) i’ve done my Work.

(d) I’ve done My work.

. Choose the correct one from the following options:

(a) delhi is the capital of India.

(b) Delhi is the capital of india.
(c) Delhi is the capital of India.
(d) Delhi is the Capital of India.
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Skills — Answers

. D- Hashtag
. B- students,

?
!
!
. C-Comma
. A-To indicate a series of options
D-Commas: one after ""day"" and one after ""Tuesday"'
11. A- A dot at the end of a sentence indicating that the sentence is

complete.

12. C-For a contraction (where letters are missing) and possession

(where a noun owns something).

13. C-Let's eat: Grandmal!

14. D- Did she say, ""May | go?"'

15. C- The sign changed from ""Walk," to ""Don't Walk," to
"Walk'" again within 30 seconds.

16. A- She said, ""He said, "Hurry up." "

17. C-"A stone that makes gold and stops you ever dying," said
Harry! ""No wonder Snape's after it."
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18. D- The book begins with this line: "It was the best of times, it
was the worst of times."

19. B- Gus looked at us and shouted, '"Take those wet clothes off!"'

20. B- My aunt, who lives in Mumbai, is a doctor.

21. D) I met a beautiful European woman.

22. (b) Essay

23. (d)4

24. (b) Brainstorming

25. (@) Brainstorming

26. (c) Drafting

27. (c) Revising

28. (b) Editing

29. (d) Supporting sentence

30. (a) Writing process

31. (b) Introduction

32. (b) Next idea

33. (a) Persuative essay

34. (d) Editing

35. (d) Hook and thesis

36. (b) Hook

37. (a) set the stage

38. (a) Main idea

39. (b) Plot,supporting information
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40.
41.
42.
43.
44,
45.
46.
47.
48.
49.
50.
51.
52.
53.
54,
55.
56.
57.
58.
59.
60.
61.
62.

(d) Different ways

(c) Transitional Sentence
(b) Finish

(b) Moral

(c) Moral

(a) Prediction

(B). Personal essay

(A). main ideas

6 SN CE) il

(C). some kind of writing that has organized paragraphs

(D). None of these

(A). Fakeness

(C). Descriptive essays
(C). Descriptive essays
(A). Reflective

(C). Slang

(C). Argumentative essays

c) Fakeness

a) Slang

d) Personal essay

a) Narrative essays

d) Argumentative essays
d) Reflective

b) Expository essays

26
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63. b) Descriptive essays

64. (a) one topic

65. (d) All of above

66. (@) introduction sentence

67. (a) Planning

68. B-Comma

69. C- Semicolon

70. A- Colon

71. B-Colon

72. C-"Everyone will read the chapter entitled 'Africa’ for
tomorrow," said the substitute teacher.

73. C-Greta said, "'l want to go home," so we took her there instead
of with us.

74. C-The library's main entrance is blocked by scaffolding;
however, the side door is open.

75. C- In addition to textbooks, the bookstore sells copy paper,
printer ink, and paper clips.

76. B- Due to the popularity of smart phones, some retailers have

too many basic phones left on their shelves.

77. B-People who are going to the picnic should wear their most

comfortable shoes.
78. C-None of the neighbors was home when the delivery truck

arrived..
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79. D-The architects spent more than a week studying the
property; they designed a perfect building for the site..

80. C-The baby's rattle fell on the floor, so her mother rinsed it off.

81. B-The container of toxic chemicals is on the top shelf.

82. A- Ted and Janice, who had been friends for years, went on
vacation together every summer.

83. A- everybody’s surprise

84. A- short story, “The Tell-Tale Heart,”

8b. C- but an eyesore

86. B- “sale,”

87. A- Do you agree with the saying, ""All's fair in love and war"'?

88. B-Everyone is being asked to work at least one weekend a

month; the alternative is to take a pay cut.

89. C-Every successful job candidate needs three qualities;

patience, persistence, and perseverence.

90. A-1l went to the store to buy crayons, markers, pencils, and
other school supplies.

91. A-l wonder if one day, Nathan, you will love me as much as |
love you.

92. C-lsabella, was a lovely girl, from New York New York.

93. B-Heather was a tall, thin, attractive teenager.

94. A-Julie was born on July 15, 1996.

28 01220980959




New model 6 S G Caal)

95. C-Rachel liked him, but she wasn't in love with him.

96. B-Katherine narrowed her chocolate eyes and yelled, ""You
infuriate me!™

97. (d) Rachnais a pretty girl.

98. (a) Bombay is bigger than Chennai.

99. (b) I’ve done my work.

100. (c) Delhi is the capital of India.
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Why do birds sing? You might assume that birds sing because they are

happy.While birds might be happy, they sing in order to
communicate.One reason they sing is to stake a claim on territory. Birds
sing to warn other birds to stay off their propertty.

For example, a robin might stake a claim on a piece of land which
measures about 200 feet wide by 200 feet long.

This amount of land provides enough worms for the robin to feed its
family. A bird maintains singing perches around the outside edges of its
territory. Birds also sing to find a mate. The length and complexity of the
mating song gives information about the fittness of the bird. Healthy
birds can sing longer, more complicated songs. Birds call to one another
in shorter vocalizations in order to warn of danger and to locate one
another. Birds sing instinctively. Young birds learn to perfect their songs

by listening to adult birds and interacting with other birds. Birds in a

local area might learn variations in the basic song which help them

recognize other members of their group.
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1- Why do birds sing?
B. To warn other birds

D. All of the above

A. To locate one another
C. To find a mate
2) Birds perch very high so ....................... ?
A. other birds can hear them. B. other birds can see them.
D. Both A and B are correct.

3) The healtth of a bird can be determined............cccuuuene.....

C. they can hide there.

A. by the length of its song. B. by the complexity of its song.
C. by the volume of its song. D. Both A and B are correct.
4) Shortter bird vocalizations are ......ccceeeeeeeeennnnens .

A. territorial songs. B. mating songs.
C. warnings. D. None of the above
5) Young birds perfect their songs by .......cceuuueerennnnne.. .
A. natural instinct. B. listening and interaction.
C. practice. D. Both B and C are correct.
6) Someone’s Property is ...ccceeeeeeernnnneiieeen
A. claimed land. B. one’s own territory.
C. the correct way to do something. D. Both A and B are correct.

7) Aperchis a ...cceeeeeerrnennnnnnnnnnnen.

A. seat.

C. landing place.

B. branch.
D. All of the above.

8) The complexity of the song is how .......cceeeeviciiiinnnne. .

A.long itis. B.louditis. C. complicated itis. D. instinctive it is.
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Answers

All of the above

Both A and B are correct.
Both A and B are correct.
warnings.

listening and interaction.
Both A and B are correct.
All of the above.
complicated it is.

AR S
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Helicopters are very different from airplanes. They can do three things

that airplanes cannot do. First, when airplanes move upward, they must
also move forward, but helicopters can move straight up without

moving ahead. Second, helicopters can fly backward, which airplanes

cannot do. Third, helicopters can use their rotors to hover in the air (stay

in one place) which is impossible for planes. Because helicopters can
perform actions that airplanes cannot, they are used for different tasks.
Since helicopters can take off without moving forward, they do not need
a runway for takeoff. They are used in congestted areas where there is no
room for airplanes or in isolated areas which do not have airports.
Because they can hover, they are used on firefighting missions to drop
water on fires. They are used in logging operations to lift trees out of
forests. Helicopters are used as air ambulances to airlift patients out of
situations which are difficult to reach by conventional ambulances. The
police use helicopters to follow suspects on the

ground or to search for cars on the ground. Of course, helicopters have

military uses because of their design and capabilities.
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1) Helicopters are able to........ccccuuuuennennnne.
A. move straight up.
B. fly backward.
C. hover.
D. All of the above
2) When airplanes move upward.......ccceeeeeeeernnnnnnens .
A. they must move forward.
B. they must move sideways.
C. they must move backwards.
D. Both A and B are correct.
3) Helliicoptters are used iin firefighting because.......ccccceeeueeeee.
A. they can reach difficult spots.
B. they can hover above the fire.
C. their rotors can put out the fire.
D. Both A and B are correct.
4) How are hellicopters used as ambullances?
A. They chase suspects on the ground.
B. They airlift people out of accidents.
C. They can drop water on fires.
D. They lift trees out of forests.
5) Why don’tt helicopters need runways?
A. They can take off without moving forward.
B. They can hover in the air.

C. They can fly backward. D. They are small.
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6) Hover means.......cceeeuueeeeennceennnens .
A. stay in one place in the air.
B. move straight up in the air.
C. go backwards in the air.
D. fly sideways.
7 ) The bestt synonym for perform is......ccccceeeeeeenn.
A. fly.
B. do.
C. lift.
D. can.
8 ) If an area is congested it iS......cceerrrrrrrrnnnnnnnennee
A. crowded.
B. popular.
C. cut off.

D. in the city.
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. move straight up.
. they must move forward.
. D. Both A and B are correct.
. They airlift people out of accidents.
. They can take off without moving forward.
. stay in one place in the air.
. do.
crowded.
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When we are young, we learn that tigers and sharks are dangerous

animals. We might be scared of them because they are big and powerful.
As we get older, however, we learn that sometimes the most dangerous
animals are also the smallest animals. In fact, the animal that kills the
most people every year is one that you have probably killed yourself many
times: the mosquito. While it may seem that all mosquitoes are biters,
this is not actually the case. Male mosquitoes eat plant nectar. On the
other hand, female mosquitoes feed on animal blood. They need this
blood to live and produce eggs.

When a female mosquito bites a human being, it transmits a small
amount of saliva into the blood. This saliva may or may not contain a
deadly disease. The result of the bite can be as minor as an itchy bump
or as serious as death. Because a mosquito can bite many people in the
course of its life, it can carry diseases from one person to another very
easily. Two of the most deadly diseases carried by mosquitoes are malaria
and yellow fever. More than 700 million people become sick from these
diseases every year. At least 2 million of these people will die from these
diseases.

Many scientists are working on safer and better ways to kill mosquitoes,
but so far, there is no sure way to protect everyone in the world from their

deadly bites. Mosquito nets can be placed over beds to protect people

against being bitten. These nets help people stay safe at night, but they
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do not kill any mosquitoes. Mosquitoes have many natural enemies like
bats, birds, and certain kinds of fish.

Bringing more of these animals into places where mosquitoes live might
help to cut down the amount of mosquitoes in that area. This is a natural
solution, but it does not always work very well. Mosquitoes can also be
killed with poisons or sprays. Even though these sprays kill mosquitoes,
they may also harm other plants or animals.

Although mosquitoes may not seem as scary as larger, more powerful
animals, they are far more dangerous to human beings. But things are
changing. It is highly likely that one day scientists will find a way to keep

everyone safe from mosquitoes and the diseases they carry.

Questions

1) According to the author, some people are more afraid of tigers and sharks

than mosquitoes because tigers and sharks
A. kill more people than mosquitoes
B. are big and powerful
C. are found all over the world
D. have no natural enemies
2) the writer in the passage teaches us that small animals are
A. cute
B. decent
C.mild
D.dangerous
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3) In paragraph 2 the author writes, '"This saliva may or may not contain a

deadly disease." The purpose of this statement is to

A. oppose a previous argument

B. question an upcoming conclusion

C. confirm a hypothesis

D. support a later statement
4) As used in paragraph 2, minor most nearly means

A. insignificant

B. deadly

C. frustrating

D. dangerous

5) Based on information in paragraph 3, it can be understood that if you get

sick with malaria or yellow fever, your chances of survival are

A. terrible
B. mediocre
C. good

D. excellent

6) It can be understood that the introduction of dragonflies might reduce
the number of flies in a given area because dragonflies

A. work together with mosquitoes

B. kill mosquitoes

C. cannot be killed by poisons or sprays

D. attract bats
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7) Which of the following best summarizes the information in paragraph 4?

A. Mosquito nets provide adequate protection from deadly mosquitoes.
B. Poisons and sprays provide adequate protection from deadly
mosquitoes.
C. The introduction of the mosquito's natural enemies provides
adequate protection from deadly mosquitoes.

D. There is no perfect solution to the mosquito problem.

8) Which of the following words best describes the authot's overall attitude

towards the prospect of solving the mosquito problem?

A. despondent, meaning hopeless or dejected
B. exasperated, meaning extremely irritated or annoyed
C. equivocal, meaning doubtful or uncertain

D. optimistic, meaning hopeful or taking a favorable view
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ANSWERS

are big and powerful
. dangerous
. support a later statement
. insignificant
. excellent
. kill mosquitoes
. There is no perfect solution to the mosquito problem.

. optimistic, meaning hopeful or taking a favorable view
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It is bad to have food stuck between your teeth for long periods of time.

This is because food attracts germs, germs produce acid, and acid hurts

your teeth and gums. Flossing helps to remove the food that gets stuck
between your teeth. This explains why flossing helps to keep your mouth
healthy, but some doctors say that flossing can be also good for your
heart.

It may seem strange that something you do for your teeth can have any
effect on your heart. Doctors have come up with a few ideas about how
flossing works to keep your heart healthy. One idea is that the germs that
hurt your teeth can leave the mouth and travel into your blood. Germs
that get into the blood can then attack your heart. Another idea is based
on the fact that when there are too many germs in your mouth, the body
tries to fight against these germs. For some reason, the way the body
fights these mouth germs may end up weakening the heart over time.
Not every doctor agrees about these ideas. Some doctors think that the
link between good flossing habits and good heart health is only a
coincidence. A coincidence is the occurrence of two or more events at one
time apparently by mere chance. The incidence of these events is
completely random, as they do not admit of any reliable cause and effect

relationship between them.
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For example, every time I wash my car, it rains. This does not mean that
when I wash my car, I somehow change the weather. This is only a
coincidence.
Likewise, some doctors think that people who have bad flossing habits
just happen to also have heart problems, and people who have good

flossing habits just happen to have healthy hearts.

The theory that flossing your teeth helps to keep your heart healthy might

not be true. But every doctor agrees that flossing is a great way to keep
your teeth healthy. So even if flossing does not help your heart, it is sure
to help your teeth. This is enough of a reason for everyone to floss their

teeth every day

Questions

1) Which of the following would be the best title for this passage?
A. Why Doctors Disagree about Flossing
B. How to Keep Your Teeth Healthy
C. Flossing Your Way to a Healthy Heart
D. Flossing by Coincidence
2) Flossing effectively helps to keep your mouth healthy by preventing
A. germs from producing acid
B. food from entering your body
C. germs from entering into your blood

D. acid from contacting your teeth and gums
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3) In paragraph 2, the author introduces ideas about how flossing works to

keep your heart healthy. Exactly how many of these ideas does the author
put forth in this paragraph?

A. 1

B. 2

C.3

D. 4

4) Based on information in paragraph 2, it can be understood that germs in

the mouth may harm your heart by
A. getting into the blood that flows to the heart

B. forcing the body to fight against too many of them

C. causing food to get stuck in the arteries

D.Aand B

5) In paragraph 3 the author writes, ""Not every doctor agrees about these

ideas." The author's purpose in writing this sentence is to

A. provide an example
B. introduce a new topic
C. change a previous statement

D. clarify an earlier assertion
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6) Based on its use in the final paragraph, it can be inferred that theory
belongs to which of the following word groups?
A. query, question, interrogation
B. assertion, declaration, affirmation
C. hypothesis, supposition, belief

D. idea, thought, notion

7) Which of the following best states the main idea of the final paragraph?
A. Because doctors do not agree that flossing will help your heart, it is
useless to floss.
B. It is a fact that flossing can help your heart as well as your teeth.
C. Even if flossing is only good for your teeth, you should still do it

every day.

D. There is no good reason to believe that flossing will help your heart,

but it is still a good idea to do it every day.
8 - What does coincidence mean ?
A - an occasion when two or more things happen at the same time
B - an occasion when two or more things happen now and then

C- an occasion when two or more things never happen at the same time

D- an occasion when something happens continuously .
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ANSWERS

1. C. Flossing Your Way to a Healthy Heart
2. D. acid from contacting your teeth and gums
3. B.2
4. D.Aand B
. D. clarify an earlier assertion
. C. hypothesis, supposition, belief
. C. Even if flossing is only good for your teeth, you should still do it
every day.

8. A - an occasion when two or more things happen at the same time
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Winter is cold in some places. Many plants do not grow during winter.

Some plants die. Snow and ice may cover the ground. It can be hard for
animals to find food during winter. Animals get through this time in many
ways. Birds and butterflies can fly. They go to a place with nice weather.
Then they come home in the spring. We call this migration. Migrating is
a good way to avoid the cold. Another good way to avoid the cold is to
sleep through it.

Many animals hide during the winter. Their bodies slow down. They save
their energy. They do not eat. They live off of their fat. They do this until
food returns. We call this hibernation. Snakes, frogs, and bears hibernate.
Some animals store food in their homes. They do not sleep all winter.
They live on what they saved in the summer and fall. This is what
squirrels, beavers, and raccoons do.

Sometimes nature helps them out. Some animals grow thicker coats in
the winter. Other animals change color. The arctic fox is brown in the
summer. His coat turns white in the winter. Winter may be pretty. It is

nice to see snow on the trees. But it is dangerous too. People are also at

risk. You can get frost bitten or worse. How do you beat the winter? Do

you wear a thick coat? Do you stay inside? Or do you live somewhere

warm?
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1. Which of these animals migrates during the winter?

a. foxes b. snakes c. bears d. butterflies

2. Which of these animals survives winter by eating stored food?

a. snakes b. raccoons c. frogs d. birds

3. Why does the arctic fox's coat change white during winter?
a. The white coat is prettier and attracts mates.
b. White absorbs the sun and is warmer.
c. The white coat helps him blend with the snow.

d. His body saves energy by reducing hair color.

4. Which does not hibernate?

a. skunks b. frogs c. snakes d. bears

5. Why is winter a difficult season in some places?

a. There is less food.
b. It is colder.
c. Snow and ice cover the ground.
d. All of these
6. What does it mean to migrate?
a. To grow a thicker coat
b. To move somewhere warmer for a season
c. To enter a long sleep and survive off of body fat

d. To change colors
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7. What is the main idea of this text?
a. Animals do funny and interesting things.
b. Most flowers do not grow during the wintertime.
c. Animals survive the winter in many ways.

d. We must prepare for the dangers of winter.

8. Which title would best describe this text?

a. Winter and summetr

b. cooperation

c. How Animals Beat the Winter

d. Birds and Butterflies
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. butterflies

. raccoons

. b. White absorbs the sun and is warmer.

. skunks

. d. All of these

. b. To move somewhere warmer for a season
. €. Animals survive the winter in many ways.

. ¢. How Animals Beat the Winter
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Marie Curie was one of the most accomplished scientists in history.

Together with her husband, Pierre, she discovered radium, an element
widely used for treating cancer, and studied uranium and other
radioactive substances. Pierre and Marie's amicable collaboration later
helped to unlock the secrets of the atom. Marie was born in 1867 in
Warsaw, Poland, where her father was a professor of physics. At the
early age, she displayed a brilliant mind and a blithe personality. Her
great exuberance for learning prompted her to continue with her studies
after high school. She became disgruntled, however, when she learned
that the university in Warsaw was closed to women.

Determined to receive a higher education, she defiantly left Poland and
in 1891 entered the Sorbonne, a French university, where she earned her
master's degree and doctorate in physics. Marie was fortunate to have
studied at the Sorbonne with some of the greatest scientists of her day,
one of whom was Pierre Curie. Marie and Pierre were married in 1895
and spent many productive years working together in the physics
laboratory. A short time after they discovered radium, Pierre was killed

by a horse-drawn wagon in 1906. Marie was stunned by this horrible

misfortune and endured heartbreaking anguish. Despondently she

recalled their close relationship and the joy that they had shared in
scientific research. The fact that she had two young daughters to raise

by herself greatly increased her distress.
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Curie's feeling of desolation finally began to fade when she was asked to
succeed her husband as a physics professor at the Sorbonne. She was the
first woman to be given a professorship at the world-famous university.
In 1911 she received the Nobel Prize in chemistry for isolating radium.
Although Marie Curie eventually suffered a fatal illness from her long
exposure to radium, she never became disillusioned about her work.
Regardless of the consequences, she had dedicated herself to science and

to revealing the mysteries of the physical world.

Questions

1- The Curies' collaboration helped to unlock the secrets of the

atom.

A. friendly B. competitive C. courteous  D. industrious

2. Marie had a bright mind and a personality.

A. envious B. lighthearted C. humorous D. strange

3. When she learned that she could not attend the university in Warsaw, she

A. hopeless B. annoyed C. depressed D. worried

4. Marie by leaving Poland and traveling to France to enter

the Sorbonne.
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A. challenged authority
B. showed intelligence
C. behaved
D. was distressed

L TR she remembered their joy together.

A. Dejectedly B. Worried C. Sorrowfully D . Happily

began to fade when she returned to the Sorbonne
to succeed her husband.

A. misfortune B. anger  C. wretchedness D. disappointmen.
7- Even though she became fatally ill from working with radium, Marie

Curie was never

A. troubled B. worried C. disappointed D. sorrowful

A. terrorism B. greed C. disappointment D. success

6 docudluad) dntadl) 4la)
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ANSWERS

friendly

lighthearted
annoyed

challenged authority
Dejectedly
disappointed

wretchedness
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Banking and banks are very important for the functioning of the modern
world. Without banks the way we use money would not work. Banks
enable people to save money, borrow money and to pay for things with
ease and security.Each country in the world has its own well known banks
that have branches in nearly every city so that they are convenient for
people to use. People often have to visit the local branch of the bank when
they want certain services. There are also some very big multinational
banks that have branches in most countries in the world.

As well as the local branches that are in most cities, each bank will also
have a head office. This is where all central tasks are performed that let
the local braches function. The people that work in the branches will be

the bank manager, the person in charge, and various tellers who work

behind the bank counter and help the customers. There will also likely be

security guards to protect the money, workers and customers.

Most customers will just need to see the tellers when they go to the bank
if they are paying money into their account as either cash or a check.
However, they might need to see the bank manager if they want to open
an account or if they have become overdraw, when they have spent more
money than there was in the account. Also if they want to borrow money
and get a loan the person will need to see the bank manager who will have
to approve it.

As well as being able to use cash or checks to pay for things, banks also

offer their customers the more convenient methods of using either a debit
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card or credit card. These methods are very convenient as you just need

to carry a small plastic card to be able to pay for anything. When paying

with plastic you will need to either sign a receipt or enter a PIN number

to conform the purchase and that you are authorized to use the card.

Questions

1) According to the text, what do banks enable people to do?
A) Buyproducts
B) Savemoneyforthefuture
C) Getmoneynowthattheyhavetopaybacklater
D) All of the above
2) What is the purpose of the head office of a bank?

A) To support the local branches to work properly.
B) To  offer services to local customers.
O To work with other banks.
D) To look impressive.

3) What do bank tellers do?
A)They protect the money.
B)They help the customers.
C)They arrange loans for customers.
D) They are in charge of the bank branch.

4) What happens when a bank customer spend more money than they have in

their account?
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A) They will need to see the security guard.
B) They will have to go to the police station.
C) They will have to have a meeting with the bank manager.

D) They will have to borrow money from the bank.

5) Which of the following methods is more convenient when paying for

something than using a check?
A) using a plastic card
B- using cash
C) There is not a more convenient method.
D) With an exchange of products.
6) what is the best title for the passage ?
A ) banking
B ) money
C) tourism
D ) economy
7) the synonym of the word - convenient — is
A’) important
B ) suitable
C) complex
D) tiny
8) Banks that have branches in most countries in the world are called ....
A) international

B ) multinational

C ) multiplied D ) mutual
Passage : Y Aalud) dakadl) Al
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ANSWERS
. All of the above

. To support the local branches to work properly.
. They help the customers.
. They will have to have a meeting with the bank manager.
. using a plastic card
banking
suitable

multinational
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Many people like to keep pets. Some just have one pet while other people
keep many different pets. This often depends on if they live in a big or
small house. If a person lives in a small house, or even a flat or apartment,
they cannot keep a lot of pets as there is not enough room. If people live
in a big house that has a garden then they will be able to keep more pets

and bigger ones.

For a person who lives in a small house a small pet is often good. They

could keep a bird or two as these are very interesting pets. They have
brightly colored feathers and make nice chirping sounds. If you have a
patrot it can even learn to talk, but it takes a long time to teach it to say
some words. If a bird is too noisy then they could keep some cute animals
like mice, gerbils or hamsters. These are all nice and fluffy so you can
take them out of their cages and play with them. Fish are also a type of
pet for people without much space or time. They just need some food and
their bowl or tank cleaning sometimes.

People that have more space and time to look after a pet could keep
something bigger that needs more care, such as a dog or cat. Cats do not
need to be looked after as much as a dog, but they get lonely if there is no
one there with them. They often like to have someone to sit with and who
strokes them. This makes them happy and they start to purr. If someone
has a dog they need to take it out for walks so that it can get exercise. It
is good to take a dog out twice a day. Dogs need exercise so they cannot

be kept in the house all the time.
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There are then pets that need a very large amount of space. These would

be animals such as horses or donkeys, it could even be a domestic pig.

For these animals a person needs more than a big garden, they need a
field so the animal has space to move and run around, as well as grass to
eat. These are types of animals that would generally not come into the

house and the owners would only spend part of the day with them.

Questions

1) Why can a person in a small house not have a lot of pets?
A) They can have a lot of pets.
B) They cannot grow enough food for them.
C) They do not have enough space.
D) Other people might not like too many pets.
2) Why are birds good pets?
A) They do not eat much.
B) They are brightly colored and make nice sounds.
C) They can be trained to play fetch.
D) They are not good pets.
3) According to the passage which of the following is a cute animal?
A) Mice
B) Fish
C) Horse
D) Cat

4) From the passage, why do cats start to purt?
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A) Because they are stroked.

B) Because they are fed.

C) Because they are left alone all day.
D) Cats do not purr.

5) Which of the following is an animal that would not normally come into a
house?
A) Cat
B) Dog
C) Gerbil
D) Donkey

6) what is the best title of the passage ?
A) keeping fit
B) keeping pets
C) keeping plants
D) keeping calm

7) what does - generally - mean
A) seldom
B) rarely
C) scarcely
D) wholly

8 ) pets that need a very large amount of space are
A) cats
B) horses
C) fish
D) dogs
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ANSWERS

1- They do not have enough space.
2- They can be trained to play fetch.
3- Mice

4- Because they are stroked.

5- Cat

6- keeping pets

7- wholly

8- horses
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Clothing is something we all should wear in order to fit in to society. The
act of wearing clothing is a choice in some indigenous societies while in
a more modern culture you could find yourself in trouble with the police
if you choose not to wear clothes. Clothes are easily accessible and can
be bought in most high street shops. Supermarkets are also beginning to
sell clothes. Clothes are for keeping people warm or serving as protection
from the strong burning sun. Certain items of clothing can be expensive,
especially if it is made by a well-known brand or is a particular design.

While clothing is affordable for most people, the price usually depends on

the quality of the material used to make the item and its brand name. In

most countries clothing is taxed, while food is not. This is probably

because clothing can be considered as a luxury item, especially if it is of
very good quality.

The type of clothing that is worn usually depends on the occasion. People
that attend a wedding usually wear formal clothes. Men often wear suits
and women wear dresses. Formal and smart clothing is often worn in
times of celebration. People often wear different clothing at work. Some
jobs require people to wear a special uniform which should be worn by
all employees. A pilot, doctor or air hostess may be required to wear a
uniform so that all the staff can be easily recognized. Other jobs are less
strict and may allow people to wear casual clothes. Construction workers
are usually asked to wear protective clothing, especially when the site is

considered highly dangerous.
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People often choose to wear comfortable clothing inside their own home.

This choice of clothing may be very different to the clothing they would

normally wear outside. People often wear clothing which matches their
current state of health or their age. Pregnant women are likely to wear
baggy clothes, while youths often wear tighter clothing to show their
figure. Younger females often wear high heeled shoes while elderly
people tend to wear more comfortable shoes which will allow them to

walk with ease.

Questions

1) When can items of clothing be expensive?
A) When they are from the supermarket.
B) When they are taxed too  much.
C) When it is a well-known brand or design.

D) When they are in the sale.

2) What kind of job requires workers to wear protective clothing?
A) Pilots
B) Construction workers
C) Doctors
D) Air hostess

3) How do some youths usually like to wear their clothes?
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A) Baggy
B) Tight
C) Short
D) Long
4) What type of clothing is worn in times of celebration?
A) Formal
B) Casual
C) Protective
D) Bedclothes
5) Who is more likely to wear baggy clothing?
A) Youths
B) Workers
C) pregenantladies
D) Elderly people
6 ) what is te synonym of the word — baggy - ?
A) medium
B) small
C) large
D) shrunk
7 ) what is the best title of the passage ?
A) clothing
B) cleaning
C) digging
D) fishing
8 ) Pregnant women are likely to wear clothes,
A) medium
B) small
C) large
D) shrunk

Passage : 9 daulil) dakadl) dla
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ANSWERS

. When it is a well-known brand or design.
. Construction workers

. Tight

. Formal

. Pregnant ladies

. Large

. Clothing

. large

Passage : 10
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Choosing which university fits your interests and academic background
is an important decision that will greatly influence the success of your
university study. In the UK alone, there are hundreds of choices and

therefore you need to be strategic in making a shortlist of universities and

narrowing down your choices into second and first choice. This involves

weighing some factors such as your motivation and aspiration, your
personality, your location, and your budget.

People attend university for different reasons, so ask yourself what you
want from your target university and what you want to do after you
graduate. Many people attend top universities because of the prestige
without considering their choice of future career. If you have interest in a
particular career, you should find universities with a better reputation for
your career choice than others. With a degree from a university that is
most respected in the profession you want to enter, it will be easy for you
to get your dream job and you will be able to climb the career ladder fast.
Your personality types also play an important role in your success as a
university student.

A scholarly type student usually has self-motivation to work hard in order
to ace exams and achieve high grades. This type of person will find
comfort in a highly academic environment offered by top world
universities such as Oxford or Cambridge. On the contrary, if you are not
a type of person who can study for hours and getting top grades is not

your main priority, you better go to a university with a more laid-back
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academic environment so that you will not be stressful all the time and
can enjoy your life at university.

Coming home could be a good escape during your hard time at university,
so think about the distance between your home and the target university.
If you get homesick easily, you should not consider choosing a university
outside your hometown or which takes more than a day to travel by land
or water. However, if distance is not a problem for you, you might want
to consider studying abroad, especially at a university whose reputation
is better than the universities in your home country.

Last but not least, calculate your financial ability, which should cover
tuition fees and cost of living. Both vary across the country and different
universities, so do your homework by doing some research in order to
find out which one fits your bills. If you cannot afford to go to the

university of your choice, you can search for financial aid in the forms of

student loans, grant, or scholarship. Do remember that if you decide to

obtain a loan, you have to pay for it after you finish your study.

Questions
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1) Why do you need to choose the right university?
A) Because it will make you happy.
B) Because it has an impact on your success at university.
C) Because life at university is difficult.
D) Because the right university is difficult to find.
2) Which university should you go to if you already have a career choice?
A) One with the lowest tuition fees.
B) One that offers you a scholarship.
C) One that has the highest prestige.
D) One that has a good reputation in your future profession.
3) What type of student will enjoy a highly academic environment?
A) A student who has self-motivation to work hard.
B) A smart student who does not need to study hard for exams.
C) A student who puts the highest priority on student societies.
D) A student who does not have a part-time job.
4) Where should you study if you are prone to homesickness?
A) Abroad.
B) Outside your hometown.
C) At your local university.

D) At home.

5) What can you do if you do not have enough money to fund your study?
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A) Wait for a year to collect money.
B) Find a full-time job.
C) Choose to study online.

D) Find a student loan or scholarship.

6 ) you should calculate your ability during thinking of university
A) financial .
B) educational .
C) cultural .

D) political .

7)) If you have interest in a particular career, you should find universities
with a better reputation-it means careet.
A) any .
B) every .
C) specific .

D) some .

8 ) the writer is concerning universities

A) negative .
B) passive
C) aggressive .

D) positive .

Passage : 10 B pilal) dadadl) 4 la)
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ANSWERS

. Because it has an impact on your success at university. One that
has a good reputation in your future profession.
student who has self-motivation to work hard.

At your local university.

Find a student loan or scholarship.

. financial .

. specific

. positive .
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1 - Teachers have been working hard for the past 10 days to provide the assistance

needed for the students to pass the comprehensive exam

Jaldd) JLEAY) 5 gladl cUall Aaliaall Bas Lusal) agafil dudalal aly) 3 pdiad) A 4y gracy () slary (s galzall -A
Jalal) JLady) & Ll Colall 4 33U Bas Lucal) anafill dualal) aly) 3 pdad) DA daay ¢y sleny () galaall -B
Jald) SLaay) il Gl 4 5 g jual) B0 lual) (yia jad dualal) 5 piad) al¥) A3 5 ¢ shary ¢y galaal) -C
el JLadY) gladl ¢ galiaall caUall 3acbucal) ayalil dudalal 3 pdad) al¥) B alaialy ¢ slary & galaal) -D

2- Mohammed is always a well behaved student in the classroom, and one day he lost

his temper and had a fight with another student.

Al il pa jabldi g 45 a jud Lelagy Ay cciually budaia Lails il g8 deaa - A
Al qlh aa jalisy dlic 188 Lalag b 5 cdall o iaa Gllh Ll 2 as - B
A llh e sl g dgbac) 888 Lalagy Ay ciuall B G juail) Cun il Lails 98 23 - C
A llh aa i g 4 e 188 L Lagy g cciuall & Ca & gla g3 Ladla il g4 3aas - D

3- The company is willing to reduce the high costs of production by moving one of its

factories overseas

Jaddl s s la Al gadbas J&5 3k (o dad pall dge) ) CadSEl) B & 5 AS A - A
ZJAL Lgailan (e da) g J&5 da) gy Aplidy) caallsl) gL ) Sty & (34 il - B
A L Lgailaae da) dly ey g UY) il LS ) Julity & 3 AS A - C

Z AL Lailaa (e da) g Jily cilaiiall Allad) caatlsal) Julis i 548 yal - D
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4- There are many countries focusing on schools and education more than anything
else, which could result in ignoring other important sectors such as healthcare

sector
A- cileUatll Jalad Cund B Al A b g) G S8 andaill g (ulaall e 5aS ) GBS J gal) G i)
daal) pUad Jia 5 AY) dagall
B- cileUaill Jalad cased B Al ¢ A1 L& g) (e JS) anaill g (uplaall de 38 il CEESE Jgall (i)
daall acd Jia s AY) dagal)
4B Lgde iy (San g A (o o) e S) AU autail) g (el Ciagiad Jgal) (e S LA -C
aldia) daual) plad Jia dagall 5 AY) cileUallly

e Aalgl) e Uil aLia ) ae gt Loy 3« i o) cra 58 el g (el o 5855 Jaadl (a LiSH D
-M\&M

5- We are the book from where our kids learn their habits. The way we speak, the way
we treat others, and the way we react to situations are more powerful than the things
we teach them

A- 3lad U yuali 48y jha g ¢ i) aa Uilalad 48, jla (Laasi 48, jha agilale Ada Lillah) candSy o A) Uit ojad
Ui Wi galay 3l LudN) (ha B8 ) e gall

B- @w&ﬁﬁjcw\&adﬂ\gﬁmﬁ)& se%-“géu\ﬁzuh.egﬁ\db mﬁh\@uﬂ‘)géﬁ\gu\ﬁ\gﬁ
L ad i Al £LEY) (e JAS) 3 g A i) gal) (amy

C- 3Ll Lilsd 33 5« AY) e Jaladl) A L8y jha (Giaadl) 8 LS, jha aglilale Lillah) alaty dde QUS cad

D- 33,48 ) g ¢cpn AY) e Jaladl) B LS, o c&iaail) b L8y jh agilile Lilldh) dda alaty o) QUSY) cad

agalad ) e LY cpa 18 JAS) A (B gall Blas Lilad
Answers
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6- Eye hygiene is very important. You shouldn’t touch or rub your eyes with your
hands as this can infect them.

Lagasnay Of 0Say 138 oY by e i ol uali 0 g Y I3 Aaga paad) AU - A
ale g o) OSan 138 ¢ iy, dlibe &80 g (uali () aa ¥ 133 daga (el AT - B
Ly ¢ ¢S 138 Y iy e 80 ) (uali O g ¥ 13 daga Gl 8BRS - C
Lagasas O S 138 oY dhayy dlibe i gl (el O g 13 daga () ABUSS D

7- Free time is extremely important, it balances the stressful everyday life and ensures

that you do not get lost in your work.

Alae b el pie (oacay g 5agall g sal) Sal) Copr e g il g 130 iy A
dlae b dolpa pie Cpaay s 53l Aga sl Sliadl G (13159 s ill pga 1N By -B
dlae b dolpa pie (paar s 53tad) Apa sl SLal) co (5150 548 il ages 1080 iy -C
dlae b dolpa pie (paays 53ad) Apa sal) BLal) Cop s 54 Alill pges 180 By D

8- Technology has brought advantages for social development, but also

disadvantages that are expressed individually and collectively.

Flarg 8 I Ll oy Ugse Ll o1y s Lada¥) 4adill Ul 5a Lin olpiSTl) s 81, A
Slan g b Il e sl aly e Ulagl (15 s Laia¥) ol asiil] Ul a L o 53S0 ol 360 -3
Slaag) @b I gt el ol U Uasl (i1 oo Laia¥) dualill L) Ja Lin o 3630 ol 81 C
Slan gl 53 h ISy e il s e Ulagl (815 A Laia ) il piil] Ui a L o1l il 581D

9- The rights of citizens to access information is the core and goal of journalism
AU 5 Axall Jardl e s 98 48 aall ) cpibal gall 2w -A
Al g Aaiall Janl) 8 sa 98 48 pal) A (bl gal) 2B
WL 5 haall Jaadl (e s 94 A aall (B (piblsall 3a-C

B g Aaall Jeadl 2 g2 g2 Ad pall ) Cpihl gal) D
Answers 7 = ’ o
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10- Instagram is a social platform that is so popular around the world. It is a very
great social media that many people use for many purposes.

A- S glaa Jrea elaial Jual g malin a Lallad) Joa Tan ) ggdia olaia) Jualgi adga sa al EEuY)
dalide CiIAAY A gaddiiuy (alAEN) Cha,
B- <N 5 1an Jran Slaial Jual g el g2 Lalladl Joa Tan 5 sgedia o laial Jual 58 daia g8 ) Sy
dilida () Y A gaddiey (alAEY) (.
C- LSl glaa Jraa olaial Jual g malise o aladl Jga Taa B e Slaial Jual i adga b ol i)
dilida () Y 4 gaddiiey (alAEY) (.

D- il g laa Jaan Slaial Jual 5 el s allal) Jga a5 ) ggdia Slaia) Jual 5 duaia g al Eiudy)
Aalisa CilaaY A gaadicn (alBEY (.

Jiad) Lgiia g LS Aagadl) daddd) o) 83 agra Glaradl Basaad) daadd) (ra ¢y gSidl ¢ slatly o Maall pa iSlI] ]

11 A- Many customers call to complain about the new service. Some customers said that
the old service was better in quality

B- Many customers are calling to complain about the new service. some of them
mentioned that the previous service had better quality

C- Many customers communicate to tell about the bad new service. A few of them told us
that the service before was a good quality

D- Many customers call complaining to the new service. Few of the customers stated

that the old service had better quality
izl ) and I Jaay Ladie Jagh dpulad) AN aladiuly 4 ey A8l b Gl JS - 12

12A- Every student in the classroom is allowed to use the calculator only when they reach the
math section

B- Every student in the class is welcomed to use the calculator when they reach the math part

C- Every student in the room is able to use his calculator only when they arrive to the math
department

D- Every student in the classroom can use the calculator only in the math section

10- B 11- A 12- C
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A- My wife and I visited the shopping center near to our house, and meet the neighbor
Ahmad and his wife, we also saw their new child who was born two months before

B-I went with my wife to the shopping center close to our house, and we met our neighbor
Ahmad and his wife, and we saw their new baby who was two months old

C- My wife and I went to the shopping center near to our house, and we met our neighbor
Ahmad with his wife and we saw their new baby who was born two months ago

D- I went to the shopping center near to our house with my wife, and we saw our neighbor

Ahmad with his wife, we met their new baby who was born two months ago

slasall (B 3 o) J gL adny (o sal) el ) - 14

A- The doctor suggested to the patient to stop consuming coffee in the evening
B-The doctor recommended the patient to stop drinking coffee at night
C-The doctor said to the patient that he should stop drinking coffee at night

D-The doctor advised the patient to not drink coffee in the evening

4 ) Ul Ao i e Uiy Ui g5 68 g Anilay i W cany J6Y) (Y0 a gl Cmnadd) oS3 A - 15

A- On the 50th anniversary of the first Earth Day, we should not let the
Coronavirus pandemic make us forget the ongoing climate crisis.

B- On the 50th wuniversity of the first Earth Day, we should not let
Coronavirus pandemic make us forget the ongoing climate crisis.

C- On the 50thanniversary of the first Earth Day, we should not Ilet
Coronavirus paramedic make us forget the ongoing climate crisis.

D- On the 50th anniversary of the first Earth Day, we should not let

Coronavirus pandemic do us forget the ongoing climate crisis.
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16 - Jalpa DA (5310 Y ISy Joall 8 Bale duaald Al Guslal) g cibal gall g Y] g ) guall (o Adads g8 alad)

e‘gmo.az\.'\“a.a

A- A dream is a series of images, ideas, emotions, and feelings that usually
happen voluntarily in the mind during specific stages of sleep.

B- A dream is a series of images, ideas, emotions, and feelings that usually
happen involuntarily in the mind during specific ages of sleep.

C- A dream is a chain of images, ideas, emotions, and feelings that usually
happen involuntarily in the mind during specific stages of sleep.

D- A dream is a series of images, ideas, emotions, and feelings that usually

happen involuntarily in the mind during specific stages of sleep.

osacd) Ji3 g amnd) Cility A Al daua o Blall pulul paic 43 elal) g4 Lalaad 0 sS5 0 9670 -17

A- 70% of the competition of our body is water. It’s an essential element to keep the body
healthy because it cleans the body and eliminates toxins.

B- 70% of the composition of our body is water. It’s an essential item to keep the body
healthy because it cleans the body and eliminates wastes .

C- 70% of the composition of our body is water. It’s an essential element to keep the body
healthy because it cleans the body and eliminates toxins.
D- 70% of the composition of our body is water. It’s an essential element to keep the body

healthy because it cleans the body and illuminates toxins.

A 2 gl X0 g Ch ja g AJLBa) 22 (B Llaluaa] Ao Ul o) JUT 4 4818 5 jidl g auad) 2 6il)- 18

A- Sleeping well and for enough time has very positive effective on our body. In this article you
will know the benefits of enough sleep.

B- Sleeping well and for enough time has very passive effects on our body. In this article you will
know the benefits of enough sleep.

C- Sleeping well and for enough time has very positive effects on our body. In this article you will
know the benefits of enough sleep.

D- Sleeping well and for enough time has very positive effects on our body. In this article you will
know the cons of enough sleep.

16- D C
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A- Excessive cleaning can cause excessive fat loss in the outer layers of the skin and
cause dermatitis or dry skin.

B- Excessive cleaning can cause excessive fat lost in the outer classes of the skin and
cause dermatitis or dry skin.

C- Excessive cleaning can cause excessive fat loss in the inner layers of the skin and
cause dermatitis or dry skin.

D- Excessive cleaning can cause excessive fat lost in the inner classes of the skin and

cause dermatitis or dry skin.

Sl A A4 Ledal LAY aaai (Jall) MR | e gal) Jaadl (e (Alail) e () e a6l 488 20

A- Lack of sleep proves the eyes from recovering from daily work. During night,

epithelial cells are reused in the eye.

B- Lack of sleep prevents the eyes from recovering from daily work. During night,

epithelial cells are reused in the eye.

C- Lack of sleep prevents the eyes from recovering from daily work. During night,

epithelial cells are regenerated in the eye.

D- Lack of sleep proves the eyes from recieving from daily work. During night,

epithelial cells are regenerated in the eye.

01220980959




New model

6 sl Gl Chal)

01220980959




New model 6 S G Caal)

NEW
MODEL

20,23,

8000+ANSWERS
GRAMMAR - BANKOF
MAIN VOCAB MCQ

RELATED VOCAB =~ " o=
s 1l

=




New model 6 S G Caal)
b N st 5580 Cilan] 4y g p35 iy 21
A-We should not distort the goals of the revolution and turn freedom into chaos.
B-We should distort the goals of the revolution and turn freedom into chaos.
C-We should not distort the goals of the revolution and turn freedom into free.
D-We should not distort the goal of the revolution and turn freedom into chaos.
Gl Jitisa Jaf (e 4palil) Alae b Ul o uay-22
A-Our youth should pushs the acceleration of development for a better future.
B-Our youth should push the acceleration of development for a better future.
C-Our youth should push the acceleration for development for a better future.

D-Our youth should push the acceleration of development for a bad future.

Obsh oal dlaa Jal ¢re oY) dalda B 9 e il adldd) ABLES) 2 gh A BN Sale) ¢))-23

A-Examining the terms of the peace agreement is now an urgent necessity to protect
the homeland.

B-Re-examining the terms of the peace agreement is now an urgent necessity to protect
the homeland.

C-Re-examining the turns of the peace agreement is now an urgent necessity to protect
the homeland.

D-Re-examining the terms of the peace agreement are now an urgent necessity to

protect the homeland.

21- A 22- B 23- C
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A-We must be characterized by patience and steadfastness in the face of our current
economic problems.
B-We must characterized by patience and steadfastness in the face of our current
economic problems.
C-We must be characterized by patience and steadfastness in the hand of our current
economic problems.
D-We must be characterized by patience and steadfastness in the face of our current
economic problem.
(g aall aiBY) yyghail (g jadY) 3 gand) dabliad) Ciaa) 8125
A-Tourism has become the backs bone of the development of the Egyptian economy.
B-Tourism has become the backbone of the development of the Egypt economy.
C-Tourism has becomed the backbone of the development of the Egyptian economy.
D-Tourism has become the backbone of the development of the Egyptian economy.
) el i) g (e aadl g g sal) laead] (B85 ) Bagaal) g sall Gl 5B hgd-26
A-The new traffic law aim to achieve the flow of traffic and reduce car accidents.
B-The new traffic laws aim to achieve the flew of traffic and reduce car accidents.
C-The new traffic laws aim to achieve the flow of traffic and reduce car accidents.

D-The new traffic laws aim for achieve the flow of traffic and reduce car accidents

24-A 25-D 26-C
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